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M = M £
ol = HACO A | 20250 =04 | SA3U | SLE(%) o = HEACO A | 20251 =04 | SA3A | SLS(%)
o 5 = (A) (8) (C=B-A) | (C/A*100) 2 &t = (A) (B) (C=B-A) | (C/A*100)
& A 197,670,000 194,015,000 | -3,655,000 -1.85 s A 197,670,000 194,015,000 | -3,655,000 -1.85
EESNE == Al 19,200,000 14,400,000 | -4,800,000 —25.00 AL Al 132,921,290 158,729,870 25,808,580 19.42
LaHIB 2 19,200,000 14,400,000 | -4,800,000 —-25.00 o124 2 120,288,290 145,741,870 25,453,580 21.16
S ESa{R= Sl 19,200,000 14,400,000 | -4,800,000 -25.00 =0 85,224,000 102,272,100 17,048,100 20.00
A =2 Al - - - 0.00 2dEES - - - 0.00
A =2 2 - - - 0.00] Mg 19,199,000 24,745,320 5,546,320 28.89
T2+ - - - 0.00 EHASHEXNNES 8,701,910 10,584,790 1,882,880 21.64
nigSie=sel Al - - - 0.00] NS ESE2EHE 7,163,380 8,139,660 976,280 13.63
AEE 2 - - - 0.00 JIEt= 43| - - - 0.00
Y - - - 0.00 AR =AY 2 140,000 140,000 - 0.00
223+ Al 132,427,440 165,183,870 | 22,756,430 17.18 JlZ2gH - - - 0.00
ES=E 2 132,427,440 165,183,870 | 22,756,430 17.18 3ol 140,000 140,000 - 0.00
NEEXS 132,427,440 165,183,870 | 22,756,430 17.18 24l 2 12,493,000 12,848,000 355,000 2.84
NZREXES - - - 0.00 Ol - - - 0.00
JIEtE2x3 - - - 0.00 FEHIH =8 4,873,000 4,728,000 —-145,000 -2.98
sE3 Al - - - 0.00] 3323 6,000,000 6,120,000 120,000 2.00
SES+ 2 - - - 0.00) MAS2=S - - - 0.00
NE== - - - 0.00 b gl 1,620,000 2,000,000 380,000 23.46
HXE=d3 - - - 0.00 JIEt2gHl - - - 0.00
da=2 Al - - - 0.00)| M&FZEAHI Al 5,620,000 3,220,000 | -2,400,000 —-42.70
Ha=3 2 - - - 0.00] Al&H] E]| 5,620,000 3,220,000 | -2,400,000 —-42.70
HolMuz - - - 0.00 Al&H] - - - 0.00
oga Al 45,872,733 24,299,560 |-21,573,173 —47.03 RHakF SHI - - - 0.00
(== 2 45,872,733 24,299,560 |-21,573,173 —47.03 ANEZHIRAH 5,620,000 3,220,000 | -2,400,000 —42.70
HEZ0ES(UHRS) 18,669,520 24,120,000 5,450,480 29.19 Abitl Al 31,758,000 31,754,000 -4,000 -0.01
HdET0lE3(RE3) - - - 0.00 24l E]| 23,754,000 25,820,000 2,066,000 8.70
HEZ0ES(BE3) 27,203,213 179,560 |-27,023,653 -99.34 A 12,840,000 13,000,000 160,000 1.25
R Al 169,827 131,570 |- 38,257 —22.53 *=8J23Yl 3,114,000 3,600,000 486,000 15.61
SR 2 169,827 131,570 |- 38,257 —22.53 o=yl - - - 0.00
=230 60,000 60,000 - 0.00 ozl 1,200,000 1,000,000 -200,000 -16.67
JIEHOIS Ol Xt =& 99,827 61,570 |- 38,257 -38.32 A=l 6,600,000 8,220,000 1,620,000 24.55
JIEtE = 10,000 10,000 - 0.00 AriH] E] 8,004,000 5,934,000 | -2,070,000 —-25.86
W E A 50,000 50,000 - 0.00
OOt S At b 2,792,000 3,762,000 970,000 34.74
KIS A 2] W & A 480,000 480,000 - 0.00
K& X2 Al 40,000 - -40,000 0.00
45 SN A 1,642,000 1,642,000 - 0.00
65 S XA 3,000,000 - | =3,000,000 0.00




Al el Al £
1z = HATOA | 2025 20A| ZSASYH | Z22(%) o = HAZO A | 2025 204 | SASH | SAS(%)
2 &t = (A) (8) (C=B-A) | (C/A*100) o = =2 (A) (8) (C=B-A) |(C/A*100)
=8 Al 197,670,000 194,015,000 | -3,655,000 -1.85 & A 197,670,000 194,015,000 | -3,655,000 -1.85
[SONES Al 167,497 161,571 -5,926 -3.54
SN EN 167,497 161,571 -5,926 -3.54
[SPNES 167,497 161,571 -5,926 -3.54
Gl I bl XL DI EH H 27,203,213 149,559 | -27,053,654 -99.45
GilHIbIZ DI E} | 27,203,213 149,559 | -27,053,654 -99.45
BX3eHE 27,203,213 149,559 | -27,053,654 -99.45




